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(1) fx) = ™ **

fl(x) = 4e™**
(2) fix) = 50e™ ™

£1(x) = 100e>"1°
(3) fix) = cos (x* - 3x - 4)

f'(x) =-(2x-3)sin (x* - 3x - 4)

f'(x) = (3 -2x)sin (x* - 3x - 4)
(4) f(x) = 10x° e-x2

f'(x) = (10x°) (-2xe-x2) + (ex2) (20x) = 20xe-x2 (1 - x%)
(5) fix) =x+ 1x

fX)=x+1x=1+1x

f'(x)=-1x21 + 1x2 =--12x2 1 + 1x
(6) flx) = X" tan 1x

f'(x) = (x°) (- 1x2 sec’ 1x) + (tan 1x) (2x)

f'(x) = -sec’ 1x + 2x tan 1x
(7) f(x) = 3x - 5 cos (mx)

f'(x) =3 + 5(2) (nmx) (n) sin (mx)* = 3 + 10n’x sin (nx)”
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(8)f(x) =1In (1 + ex] - ex)
fX)=In(1+exl-ex)=In(1+¢e")-In(1-¢"
f'(x) =ex]l + ex + exl - ex = 2ex] - e2x

(9) fix) = (In x)*

f'(x) = 4x (In x)°

(10) fix) = sin x3 + sin x3
f'(x) = 13x23 cos x3 + cos x3sin2 x3

(11) fix) = x2+ 8x5
f'(x) = 2x + 85(x2 + 8x)45

(12) fix) = 32xx
f'(x) =(x) (21In3) 32x - 32xx2 = (-1+ 2xIn 3) 32x x2

(13) fix) = 27 cos nx
f'(x) = (27) (- sin mx) + (cos mx) (-ln 2)2~
=-n 27 sin mx - 27 (cos mx) In 2

(14) f(x) = 10 log4 xx
f'(x) = 10xx In 4- 10 log4 xx2 = 10In 4- 10 log4 xx2

(15) filx) = (sin x1 + cos x)°

f'(x) = 2 (sin x1 + cos x)' x (1 + cos x) (cos x) - (sin x) (-
sin x)(1 + cos x)2

=2xsinxl +cosxx11 + cos x

= 2 sin x(1 + cos x)2
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(16) f(x) = log, (1 + x In X)

f'(x) = (x) (1x) + (In x) (1)(In 3) (1 + x In x) =
1+ In x(In 3) (1 + x In x)

(17) fix) = e™* + sin ()
f'(x) = 2e™* cos 2x + 2e” cos (%)
(18) filx) = tan* (sec (cos x))

f'(x) = 4(tan (sec(cos x)))’ sec’ (sec(cos x)) x sec(cos x) tan(cos x) x
(-sin x)

= -4 tan’ (sec(cos X)) sec’ (sec(cos x)) sec(cos x) tan(cos x) sin x

slasall aod s il Bo ol,isl JS) pwlosll alslro a>ix
(19) f(x)=4e-0.5x2 , x=-2
f(x)=4e—0.5x2f(—2)=4e—0.5(=2)2=4e2f (x)=—-4xe—0.5x2

192 pwloall Juo
m=f(-2)=—4(-2)e—0.5(—2)2=8e2
o gwlood| alsleo
y—4e2=8e2(x+2)-y=8e2x+20e2
(20) f(x)=x+cos 2x, x=0
f(x)=x+co0s2xf(0)=0+cos(0)=1f(x)=1-2sin 2x
190 gwlaall Jio
m=f(0)=1-2sin2(0)=1
o gwloodl aloles
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y—1=1(x-0)-y=x+1
(21) f(x)=2x , x=0
f(x)=2xf(0)=20=1f (x)=(In2)2x
192 pwloall Juo
m={(0)=(In2)20=In2
'od gwleadl dsleo

y—1=(In2)(x—=0)-y=(In2)x+1
(22) f(x)=x+1sinmx2 , x=3

f(x)=x+1sinnx2{(3)=2sin3n2=-2f (x)=(x+1)(n2cosmnx2)+(sinmx2)(1
2x+1)

192 pwloall Juo
m=f{(3)=(2)(0)+(-1)(14)=-14
o gwlood| alsleo
y+2=—14(x—-3)-y=—-14x-54

 ((A(X)=F(g(x :0l5 13] (23)
(A(5 25l f(=2)=8, f(=2)=4,f(5)=3, g(5)=—2, g'(5)=6 :0lS,

A'(x)=1(g(x))xg' (x)A'(5)=f(g(5))xg'(5)=f(-2)x6=4x6=24

F(X)=1(x24+1)3 & cwsls « f(x)=xx241 :ol5 15] (24)

f(x)=xx2+1f(x)=(x2+1)(1)-(x)(xx2+1)x2+1=(x2+1-x2x2+1)x2+1=
1(x2+1)x2+1=1(x2+1)3
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